
Schriftliche Division

Dividend bis 100.000, zweistelliger Divisor

Variante

Übungsblatt

5

66

Datum:Klasse:

Name:

1 a) 5 2 3 3 2 2 1 = b) 4 1 0 7 4 2 2 =

2 a) 6 1 3 9 2 1 2 = b) 5 9 4 5 8 1 4 =

3 a) 5 2 0 2 0 1 7 = b) 5 9 1 5 6 2 3 =

   Quelle: www.matheaufgaben.net/arbeitsblaetter/schriftliche-division/dividend-bis-100000-zweistelliger-divisor/

©  www.Matheaufgaben.net   = Mathe online lernen + Arbeitsblätter für Mathematik zum Ausdrucken

http://www.matheaufgaben.net
http://www.matheaufgaben.net/mathe-online/
http://www.matheaufgaben.net/arbeitsblaetter/


Schriftliche Division

Dividend bis 100.000, zweistelliger Divisor

Variante

Übungsblatt

5

66
... Lösungen ...

1 a) 5 2 3 3 2 2 1 = 2 4 9 2
4 2

1 0 3
8 4

1 9 3
1 8 9

4 2
4 2

0

b) 4 1 0 7 4 2 2 = 1 8 6 7
2 2

1 9 0
1 7 6

1 4 7
1 3 2

1 5 4
1 5 4

0

2 a) 6 1 3 9 2 1 2 = 5 1 1 6
6 0

1 3
1 2

1 9
1 2

7 2
7 2

0

b) 5 9 4 5 8 1 4 = 4 2 4 7
5 6

3 4
2 8

6 5
5 6

9 8
9 8

0

3 a) 5 2 0 2 0 1 7 = 3 0 6 0
5 1

1 0
0

1 0 2
1 0 2

0 0
0

0

b) 5 9 1 5 6 2 3 = 2 5 7 2
4 6

1 3 1
1 1 5

1 6 5
1 6 1

4 6
4 6

0
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